date: 2024-01-26

TFE4188 - Lecture 3
Reference and bias
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Goal for today

Understand why we need reference and bias circuits

Introduction to circuit architectures
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Bandgap voltage reference
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A voltage complementary to
temperature (CTAT)
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Some algebra (see Diodes)
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https://analogicus.com/aic2024/2023/10/26/Diodes.html
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I T/ A current proportional to
| | ¢ Y temperature (PTAT)
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How to combine a CTAT with a PTAT ?
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Low voltage bandgap
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Sometimes we just need a current

Carsten Wulff 2024 23



How does a VI converter circuit work?
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GmCell: Why is 1/Z
proportional to
transistor
transconductance?

25









Carsten Wulff 2024

28



